
Quiet Week Example No. 2 

	
The	L-shaped	structural	member	above	has	a	circular	cross-section	with	a	radius	of	
r.	The	member	is	supported	by	a	fixed	connection	to	ground	at	B	and	a	roller	at	C	as	
it	carries	a	downward	vertical	load	of	P	at	D.	What	is	the	absolute	maximum	shear	
stress	 in	 the	member	 at	 points	 “a”	 and	 “b”	 on	 the	 cross-section	 at	 H?	 Expect	 the	
following	steps	in	the	analysis.	

i. Equilibrium analysis 
ii. Deflection analysis (for finding external reactions in indeterminate structures) 

iii. Internal resultant analysis 
iv. Description of the states of stress 
v. Mohr’s circles for the two states of stress 

vi. Absolute maximum shear stress 
 
SOLUTION 
	
	
	
	 	

 

By

TMBBy

EqÉÉÉÉEÉÉÉ Cy
Z MB MB Cy 24 PL O p

INDETERMINATE Choose Cy as redundant

it Castiglia no
I Fy F o

p KIMI
F

E ME M Ps OF M Ps

E E FEETÉIEIds if'mindependent of Cy

gE Ey Ez P 0 Iz P P

E MN Cy X AP L t Mz D Mz PLAC X



	
	
	
	
	
	
	
	
	 	

Ez I FEI I É ax

O V2
Since Cy redundant load by choice

o

III InEYE I 42 ax

II IfPlt G Ctx dx b G

I EPE I GET
Cy P

Iii E Fx o E P

I Ey O TE G
g

P

m RE

IIE

Cin

ydF TE EA Te En
F O E S
M TE KI O



	
Tace

Tyga Tz

R t Havel

y

Imaxabs R

Point b
f

Tare E poi
p El

R VEIT Have

Again It max ab R f

na
Kote Had we notneglected shear

zfÉ IT EP

E

É É r
2 b

26 4 CHAE GR r

EEE
I


